WEST BENGAL MEDICAL SERVICES CORPORATION LTD

(Wholly Owned by the Government of West Bengal) CIN:U85110WB2008GC126373 2008-09

Regd. Off. Swasthya Sathi, GN-29, Sector-V, Salt Lake
Phone: 033 40340300 Fax: 033 40340400 email id: info@wbmsc.gov.in

Name of work:

- A. Repairing work of pantry at 1st floor of Swasthya Sathi Building
- B. Installation of water line for water purifier machine in West Bengal Food Safety Appellate Tribunal

NOTICE INVITING TENDER

Memo No: WBMSCL/NIT- 78 /2020 Dated – 18/06/2020

Managing Director, West Bengal Medical Services Corporation Limited, Swasthya Sathi, GN-29, Sector-V, Kolkata - 700 091, invites sealed bids from eligible contractors with experience of similar nature of work for the work

- A. Repairing work of pantry at 1st floor of Swasthya Sathi Building
- B. Installation of water line for water purifier machine in West Bengal Food Safety Appellate Tribunal

The details may be available at Notice Board of WBMSCL & website www.wbmsc.gov.in and to be submitted (offline) on or before 3:00 P.M. on 26/06/2020.

| No of Site | 1 no. | | | |
|-------------------------------|--|--|--|--|
| Estimated amount | For work 'A' Rs. 66,332.00 For work 'B' Rs. 13,313.00 | | | |
| Bid Security/EMD | For work 'A' the bidder will have to deposit earnest money Rs. 1350.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd"). For work 'B' the successful bidder will have to deposit earnest money Rs. 270.00 (In the form of DD from a scheduled bank drawn in favour of "West Bengal Medical Services Corporation Ltd"). | | | |
| Security Deposit | 10% of the contract amount to be deducted from the Bill for each work. | | | |
| Releasing of Security Deposit | One year from the date of completion of each work | | | |

| Tender Publication Date | 18/06/2020 |
|-------------------------------------|---|
| Last date of Submission of Tender | 26/06/2020 Upto 3:00 PM |
| Date of Opening of Tender Document | 26/06/2020 at 4:00 PM |
| Validity of Quotation | 120 days from the date of submission of Quotation |
| Time allowed for completion of Work | 15 days from the date of Work order for both the work |
| Eligibility of participating bidder | Bonafied reliable and resourceful firm having executed similar nature of Work. Intending tenderers should produce credentials of a similar nature of completed work of the minimum value of 40% for work 'A' and 'B'. Any tenderer can participate in both the works. Credentials should be submitted for each work separately. |
| Bid opening Venue | West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29 , Sector – V, Salt Lake, Kolkata – 700091. |

Prospective bidders are requested to submit the bid in a sealed cover addressed to the Managing Director, West Bengal Medical Services Corporation Ltd, Swasthya Sathi, GN -29, Sector – V, Salt Lake, Kolkata – 700091 within the stipulated date & time.

Bidders are instructed to submit their bid consisting of two sealed envelope called "Qualifying Bid" &" Financial Bid" in the tender box of WBMSCL by hand. Bid will not be taken by postal system/courier.

Documents comprising the bid: (Bidders are instructed to submit their bid consisting of two sealed envelope called Qualifying Bid & Financial Bid.)

The Qualifying Bid shall comprise the following: -

- a. PAN No.
- b. GST registration no.
- c. IT Return for the assessment year of 2019-20.
- d. Experience in similar field
- E. Duly signed NIT

The Financial Bid shall comprise the following:

Applicable Rate Schedules as per printed format on the letter head of the intending bidder.

(Rate must be given in the B.O.Q. for work 'A' & 'B' provided below, on the letter head of the intending bidder. Rate is inclusive of all taxes, charges in respect of all the sites/location. Any taxes, charges etc shown separately will not be considered. Rate Quote in any other format will be treated as cancelled).

Comparison of financial bid will be based on total amount of the site/location.

The intending bidder(s) required to quote the rate (percentage above/below/at par) over the total estimated cost put to tender considering that no escalation and / or price adjustment will be allowed by the department under any circumstances.

A bidder shall have to furnish signed "Financial Bid" on their letter head. The financial bid of only of those bidders will be opened who meet all the requirements of the technical bid.

Failing to fulfill the requirements and eligibility criteria set in the bid document will make the bidders Bid invalid. WBMSCL reserves the right to cancel or reject any or all of the Bids without assigning any reason whatsoever.

Sd/Managing Director &
Commissioner, H & F W Department

Name of Work :

Repairing work of pantry at 1st floor of Swasthya Sathi Building

B.O.Q. (A)

| SI. | | | | | | |
|-----|---|---------|----------|-----------------|---------------|---------|
| No. | Description of Item | Unit | Quantity | Rate in Rs. | Amount in Rs. | Remarks |
| | CIVIL Works | | | | | |
| 01 | Dismantling carefully wooden walling, | | | | | |
| | flooring of ceiling and stacking dismantled | | | | | |
| | materials as directed. | | | | | |
| | | Sqm. | 16 | 15.84 | 253.39 | |
| 02 | 125 mm. thick brick work with 1st class bricks | | | | | |
| | in cement mortar (1:4) in ground floor. | | | | | |
| | | | | | | |
| | | Sqm. | 6 | 832.56 | 4995.38 | |
| 03 | Plaster (to wall, floor, ceiling etc.) with sand | 34111. | U | 032.30 | 4333.30 | |
| U.S | and cement mortar including rounding off or | | | | | |
| | chamfering corners as directed and raking out | | | | | |
| | joints including throating, nosing and drip | | | | | |
| | course, scaffolding/staging where necessary | | | | | |
| | (Ground floor).[Excluding cost of chipping | | | | | |
| | over concrete surface] | | | | | |
| | (ii) With 1:4 cement mortar | | | | | |
| | (b) 15 mm thick plaster | Sqm. | 20 | 184.39 | 3687.71 | |
| 04 | Supplying, fitting and fixing Black Stone slab | | | | | |
| | used in Kitchen slab, alcove, wardrobe etc. | | | | | |
| | laid and jointed with necessary adhesive | | | | | |
| | Cement mortar (1:2) including grinding or | | | | | |
| | polishing as per direction of Engineer-in - | | | | | |
| | Charge in Ground Floor. | | | | | |
| | (b) Slab Thickness above 25 mm and upto | _ | | | | |
| 0.5 | 37.5 mm | Sqm. | 4 | 805.41 | 3221.66 | |
| 05 | Supplying, fitting & fixing granite slab 15mm to 18mm thick in floor, lobby, stair, landing and | | | | | |
| | treads etc. over 20mm (avg) thick base of | | | | | |
| | cement morter (1:2) laid with white cement | | | | | |
| | slurr@ 4.40Kg per Square meter before | | | | | |
| | placing of granite and jointed with white | | | | | |
| | cement slurry @ 2.0 Kg per square meter with | | | | | |
| | necessary pigments and complete as per | | | | | |
| | direction of Engineer-in-charge including cost | | | | | |
| | of all materials, labourscuring and roughening | | | | | |
| | of concrete surface complete. In ground floor | | | | | |
| | | | | | | |
| | (b) Area of each Granite slab 0.6 to 1.0 Square | Course | | 2151 52 | 12606.00 | |
| 06 | meter. (A) Wood work in posts, post plates, rafters, | Sqm. | 4 | 3151.52 | 12606.09 | |
| UB | battens, truss members, purlins etc. fitted and | | | | | |
| | fixed complete (excluding the cost of bolts, | | | | | |
| | paints, but including the cost of nails, screws | | | | | |
| | etc.) | | | | | |
| | (ii) Sal : Local. | Си.М. | 0.15 | <i>87933.83</i> | 13190.07 | |
| | (II) Sai : LUCai. | Cu./VI. | 0.13 | 0/933.03 | 13190.0/ | |

| SI. No. | Description of Item | Unit | Quantity | Rate in Rs. | Amount in Rs. | Remarks |
|------------|---|-------------|----------|-------------|---------------|---------|
| 07 | Supplying, fitting and fixing boiling water proof ply conforming to IS: 710-1977 bonded with phenol formaldehyde synthetic resin conforming to IS: 848-1974 of approved make and brand fitted and fixed as per design as per approval and direction of Engineer-in-Charge. [excluding the cost of supporting frame work and teak wood batten/Lipping] | | | | | |
| | (vi) 19mm | Sqm. | 5 | 2737.50 | 13687.52 | |
| 08 | Supplying fitting, fixing decorative lamination conforming to IS: 2046: 1995 as per approved make, brand, finish and thickness with fitting, fixing the same on Particle/MDF / Ply Boards with recommended / approved adhesive with proper clipping the sides for better attachment as per direction of Engineer-incharge. The rate includes the cost of labour, adhesive and all incidental charges thereof. | • | | | | |
| 09 | Glossy/Matt/Suede excluding surface texture or metallic lustre. | | | | | |
| | (i) Thickness of laminate 1.5mm | Sqm. | 5 | 907.22 | 4536.11 | |
| 10 | French polishing to wood work including preparing surface (ordinary gloss) | | | | | |
| 4.4 | (a) On new wood work | Sqm. | 5 | 528.27 | 2641.35 | |
| 11 | Anodised aluminium butt hinges of approved quality manufactured from extruded section conforming to I.S. specification (I.S. 205/66) and fitted and fixed with cadmium plated screws: | | | | | |
| | (iii) 75 x 45 x 2.5mm. | Each | 40 | 58.82 | 2352.90 | |
| 12 | Anodised aliminium D-type handle of approved quality manufactured from extruded section conforming to I.S. specification (I.S. 230/72) fitted and fixed complete: (a) With continuous plate base (Hexagonal/ | | | | | |
| | Round rod) | | | | | |
| | (ii) 100 mm grip x 10 mm dia rod. | Each | 26 | 78.05 | 2029.37 | |
| 13 | Supplying, fitting and fixing Godrej Multi Lock or equivallent . | Each | 13 | 153.84 | 1999.96 | |
| 14 | Supplying bubble free float glass of approved make and brand conforming to IS: 2835-1987. | | | | | |
| | iii) 5mm thick clear glass. | Sqm. | 1 | 595.01 | 595.01 | |
| 15 | (F) Supplying Zinc powered coated star lock (Natural White) | Fach | 2 | AE 25 | 00.50 | |
| 16 | Supplying, fitting and fixing approved brand 32 mm dia.P.V.C. waste pipe, with PVC coupling at one end fitted with necessary clamps. | <i>Each</i> | 2 | 45.25 | 90.50 | |
| | (iii) 900 mm long | Each | 1 | 84.84 | 84.84 | |
| 17 | Dismantling sink with brackets with or without waste fittings. | | | | | |

| SI. No. | Description of Item | Unit | Quantity | Rate in Rs. | Amount in Rs. | Remarks |
|------------|---|------|----------|--------------|---------------|---------|
| | (ii) Above 450 mm and upto 600 mm length | Each | 1 | 58.82 | 58.82 | |
| 18 | Refixing sink with brackets with or without waste fittings. | | | | | |
| | (ii) Above 450 mm and upto 600 mm length | Each | 1 | <i>85.97</i> | <i>85.97</i> | |
| 19 | Supplying, fitting and fixing Waste fittings complete. | | | | | |
| | (a) C.P. over brass | | | | | |
| | (ii) 32 mm | Each | 1 | 214.93 | 214.93 | |
| | | | | Total | 66,332.00 | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |

Sd/-Managing Director, & Commisisoner, H & F W Department

Name of Work:

08

Circuit wiring:

Installation of water line for water purifier machine in West Bengal Food Safety Appellate Tribunal

B.O.Q. (B) SI. Description of Item Unit Quantity Rate in Rs. Amount in Rs. Remarks No. **CIVIL Works** 01 Supplying, fitting and fixing CPVC (Chlorinated Polyvinyl Chloride) pipes of approved make conforming to IS-15778: 2007 . with all necessary acessories, specials viz. socket, bend, tee, union, cross, elbo, nipple, longscrew, reducing socket, reducing tee, short piece etc. fitted with holder bats clamps, including cutting pipes, fitting, fixing etc. complete in all respect including cost of all necessary fittings as required, jointing materials in any position above ground. (Payment will be made on the centre line measurements of total pipe line including all specials. No separate payment will be made for accesories, specials. (a) For Exposed Work (i) CPVC Pipes Class-1, SDR-11 15 mm Mtr 15 119.91 1798.61 Supply of UPVC pipes (B Type) & fittings conforming to IS-13592-1992 (A) (i) Single Socketed 3 Meter Length 15 221.72 3325.73 (a) 75 mm Mtr (iii) Door Tee (a) 75 mm Each 2 114.25 228.50 x) Bend 87.5° (a) 75 mm Each 6 69.00 414.02 03 Supplying, fitting and fixing bib cock or stop (d) (i) Chromium plated angular Stop Cock with wall flange (Equivalent to Code No. 5053 & Model - Florentine of Jaguar or similar brand). No 921.93 921.93 04 Supplying, fitting and fixing stainless steel sink complete with waste fittings and two coats of painting of C.I. brackets. (i) 530 mm X 430 mm x 180 mm Each 3715.99 3715.99 Supplying, fitting and fixing approved brand P.V.C. CONNECTOR white flexible, with both ends coupling with heavy brass C.P. nut, 15 mm dia. (iii) 600 mm long Each 121.04 121.04 06 Cutting hole through wall, roof or cornice and mending good all damages. Each 76.92 230.76 **ELECTRICAL WORKS PVC** conduiting: 07 Supplying and fixing PVC Rigid Conduit 'FRLS' [Precision Make] on wall, ceiling with saddles and other accessories as required and mending good damages to building works. (ISI marked reputed make) 10 83.00 830.00 Rmt. 25mm size

| SI. No. | Description of Item | Unit | Quantity | Rate in Rs. | Amount in Rs. | Remarks |
|------------|---|-------|----------|-------------|---------------|---------|
| | Distribution wiring in 1.1 KV single core stranded 'FRLS' PVC insulated & unsheathed copper wire (Brand approved by EIC) in 20mm size PVC rigid conduit 'FRLS' (Precision make) incl. necy. fittings as required | | | | | |
| | 2 x 1.5 sqmm + 1 x 1.5 sq.mm | Rmt. | 10 | 121.00 | 1210.00 | |
| 09 | Supplying & Fixing 240V 5 Pin 6/16A moduler type plug socket (brand approved by EIC) with 16A moduler type switch without plug top on 4 module GI modular type switch board with top cover plate flushed in wall incl. S & F switch board & cover plate & making necy. connection with PVC Cu wire & earth continuity wire etc. (Legrand/L&T) | Nos. | 7 | 516.00 | 516.00 | |
| | | 1403. | 7 | 310.00 | 310.00 | |
| | | | | Total | 13,313.00 | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |
| | | | | | | |

Sd/-Managing Director & Commissioner, H& F W Department